MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.maimidade.gov/buildingcode

Greenheck Fan Corporation

P.O.Box 410

Schofield, WI 54476

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model SDLE Aluminum Louvered Enclosure.

APPROVAL DOCUMENT: Drawing No. SDLE-1, titled “Model SDLE Severe Duty Louvered
Enclosure”, dated 01/28/03, with last revision on 07/08/03, prepared by Greenheck Fan Corporation, signed
and sealed by L. D. Rice, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-0422.05 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 08-0429.05

Expiration Date: August 21,2013
Approval Date: June 26, 2008
Page 1

MIAMIDADE COUNTY

APPROVED




Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. SDLE-1, titled “Model SDLE Severe Duty Louvered Enclosure”, dated
01/28/03, with last revision on 07/08/03, prepared by Greenheck Fan Corporation,
signed and sealed by L. D. Rice, P.E.
“Submitted under NOA # 03-0422.05”

B. TESTS
1. Test report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test per
PA 203 and Uniform Static Air Pressure Test per PA 202 of “Severe Duty Louvered
Enclosure", prepared by Hurricane Test Laboratory, Inc., Report No. HTL-03020,
signed and sealed by Vinu J. Abraham, P.E. on 04/12/03.
“Submitted under NOA # 03-0422.05”

C. CALCULATIONS
1. Louver Anchorage Calculations of Severe Duty Louver Enclosure prepared by Rice
Engineering, Sheets P1 through R3, dated 01/28/03, signed and sealed by L. D. Rice,
P.E.
“Submitted under NOA # 03-0422.05”

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Tensile test of 1 sample #0325-0202-03 by Q. C. Metallurgical, Inc., on 03/13/03,
signed and sealed by F. E. Grate Jr, P.E.
“Submitted under NOA # 03-0422.05”

F. STATEMENTS
1. Statement letter of no change issued by Greenheck Fan Corporation, dated 04/11/08,
signed and sealed by Michael L. Watz, Jr., P.E.

2. Code compliance letter issued by Rice Engineering on 03/19/03, and signed by L. D.
Rice, P.E.

3. No financial interest letter issued by Greenheck Fan Corporation on 07/08/03 and
signed by B. L. Knieriem and notarized by E. Kettner.
“Submitted under NOA # 03-0422.05”

G. OTHER
1. Notice of Acceptance No. 03-0422.05, issued to Greenheck Fan Corporation,
approved on 08/21/03 and expiring on 08/21/08.

=z é/?/ﬂ

"/ Carlos M. Utrera, P.E.
Pfoduct Control Examiner

NOA No. 08-0429.05

Expiration Date: August 21,2013
Approval Date: June 26, 2008



RIS
Sl S "

TEM QUANTITY DESCRIPTION MATERIAL DIMENSIONS QES x <t
1 1 / SIDE HEAD 606315 ALUMINUM 0.125 WALL X 5.73D X _5.34H N EN

2 1 / SIDE SILL 6063—T5 ALUMINUM 0.125 WALL X 6.08D X 6.54H 0|3 ©

3 2 / SIDE JAMB 6063—15 ALUMINUM 0.125 WALL X 5.94D X 1.05W Lo O

) 5.5 SPACING BLADE 6063-15 ALUMINUM 0.125 WALL X 5.73D X 6.53H Z}BE

5 1 / BLADE BLADE BRACKET (THROAT>32.57) 6063-15 ALUMINUM 0.081 WALL X 4.68D X 4.00H SOl v I —
3 > 7 SIDE TOP_/ BOTIOM SUPPORT _CHANNEL | A572 SIL OR A240 5% 0.135 X 1.25 X 2 X 3 CHANNEL O [z |
7 2 / SIDE SIDE_SUPPORT CHANNEL A572 STL OR _A240 SS 0.135 X _1.25 X_2 X 3 CHANNEL = N
8 1 / SIDE BLADE SUPPORT ANGLE A572 STL OR A240 SS | 0.135 X 1.25 X 2.5 ANGLE (THROATS32.57) < g — 5
) 1/ SIDE CENTER SUPPORT ANGLE A572 STL OR A240 SS | 0.135 X 2 X 2.5 ANGLE (THROAT>32.57) &9 z 2

10 T/ SIDE BIRDSCREEN 1100 ALUM./GALV LOUVER OPENING zlujw |5 x O
K 7 LONG STRUCTURAL ANGLE A36 STL OR A276 S5 2 X 2 X 1/4 X 64 MAX. LENGIH 2512 |w a N
12 7 SHORT STRUCTURAL ANGLE A36 SIL OR A276 S5 2 X 2 X 1/4 X 60 MAX. LENGTH x 8 & S

13 7 CORNER STRUCTURAL ANGLE A36 STL OR A276 S5 2 X 2 X 1/4 X 48 MAX. LENGTH

14 2 CURB _CAP—LONG SIDE A572 STL OR A 240 55 0.105 X 2.75 X 2.75 ANGLE

15 2 CURB CAP—SHORT SIDE A572 STL OR A 240 SS 0.105 X 2.75 X 2.75 ANGLE .

16 7 BLANKOFF A572 STL OR A 240 SS 0.063 STEEL ANGLE A

17 4 CORNER COVER 7100 ALUMINUM 0.125 X 10.50 X 10.50 X 48.00 MAX HEIGHT Sk L
18 4 BOTTOM CORNER COVER 1700 ALUMINUM 0.080 X 9.20 X 9.70 FORMED Ol o
19 7 HOOD (SINGLE PIECE) 1100 ALUMINUM 0.100 X 56.20 X 79.20 MAX. W 2 )
20 7 HOOD — TWO PIECE (THROAT>32.57)] 1100 ALUMINUM 0.100 X 56.20 X 79.20 MAX. Egﬁ N
57 1 RIDGE CAP (THROAT>32.5") 7100 ALUMINUM 0.065 X 2.0 X 2.0 X 72.0 MAX. LENGTH w| L - O
22 7 HOOD SUPPORT (THROAT>32.57) A653 GALV. OR A240 S5 10 GA. X 3.25 X 1.25 ANGLE o, a D (—)'
53| 8 MAX. CENTERS HOOD SUPPOR! CHANNEL 7100 ALUMINUM 0.063 X 1-1/2 X 8.0 WIDE CHANNEL PRODUCT RENEWED -zl 5 o >
24 1/ HOOD HOOD BOTTOM COVER 7100 _ALUMINUM 0.065 MIN. THICK SHEET as complying with the Florida | [UL]] >< Z 5
25| 4 / EXTRUSION LOUVER FASTENER 18-8 55 NO.10—16 X 3/4 TYPE AB BuldingCode , 5 Q2 AO| b!:-'

26 |6 MAX_ SPACING LOUVER MTG_ SCREW 18-8 SS NO10—16 X 3/4 TYPE AB . @D.& Wiho
57 | 6" MAX. SPACING COUVER MTG. BOLT SAE J479 OR ASTM F503 3/8=16 X 1 HEX HEAD T4 o5 s
58 | 6" MAX. SPACING LOUVER MTG. NUT SAE J995 OR ASTM F954 3/8-16 HEX By (Frre 2w
29| 2 / BRACKET BLADE BRACKET SCREW 18-8 55 NO-10-16 X 3/4 TYPE AB o n Y
30| 127 MAX. CENTER CORNER COVER SCREW T8-8 S5 NO.10—16 X 3/4 TYPE AB =
37 4 / CORNER BOTTOM COVER SCREW T8-8 S5 NO.170—16 X 3/4 TYPE AB 0 o -
37 2/ CORNER HOOD FASTENER—FEMALE 7P STEEL 1/4-20 RIVNUT DESIGN LIMITS l:] |
33 2/ CORNER HOOD FASTENER—MALE T8-8 55 T/4=20 X 1.0 MIN. Max. Wind Velocity: 150 mph (67 m/s) L

34 27 100D FINGE ASSEMBLY 7100 ALUMINUM 3776 THICK WITH 1/4 RIVET Max. Design Load: 140 psf (6.8 kPa) =

35 8/ HOOD HINGE SCREW 18—8 S5 T/4—20 X 5/8 PTH Max. Curb Throat Width: 56.5 in. (1435 mm) =

36 8/ HOOD AINGE_NUT T8-8 S5 T74—70 SERRATED FLANGE NUT Max. Curb Throat Length: 56.5 in. (1435 mm)

37| 727 MAX. CENTERS | TWO PIECE FOOD FASTENER SAE J429 OR ASIM F503 5/16—18 X 3/4 HEX HEAD—MIN. Max. Inside Structural Angle W: 60.0 in. (1524 mm)

38 127 MAX. CENTERS | TWO PIECE HOOD FAGTENER SAE J995 OR ASTM FO574 5/76—18 HEX—MIN. Max. Inside Structural Angle L: 60.0 in. (1524 mm)

59 4 RIDGE_CAP FASTENER 188 S5 NO.T0 X 1/2 PTH Max. Inside Structural Angle H: 48.0 in. (1219 mm)

2D 7 CURB PANEL A572 STL OR AZZ0 S5 0.105 X 24.00 MAX. HIGH Max. Overall Enclosure Width:  79.2 in. (2012 mm)

77 [4 (CURB FEIGHTST8") CURB STIFFENER A572 STL OR AZ40 SS 0.705 X 2.0 X 2.0 FORMED ANGLE Mo Overall Enc Length:  79.2 in. (2012 mm)

42 | 127 NMAX. CENTERS CURB WELDNUT SAE J995 OR ASTM FO54 3/8—16 WELDNUT e O e i (1930

23 72" MAX. CENTERS CURE FASTENER SAT J429 OR ASTM F503 3/6-16 X 1 HEX HEAD Max. Overall Height (W/Curb): ~ 76.0 in. ( mm)

42 [ 12" MAX. CENTERS | ANCHOR FASTENER—CONCRETE PLATED STEEL 3/8-16 X 3 HILTI KBI. 2—1/4 MIN_ MBED || Mox. Overall Height (W/0 Curb): 52.0 in. (1321 mm)

Z5 | 4.5” MAX CENTERS | _ANCHOR FASTENER—STEEL PLATED STEEL NO.12=14, NO.3 POINT HILTI KWIK—FLEX SCREW ||{Mox. Curb Height: 24.0 in. (610 mm)

46 7/ BRACKET BRACKET REINFORCEMENT 6063—T5 ALUMINUM 0.063 WALL X 1.5W X 0.50H Max. Outside Curb: 60.0 in. (1524 mm)

37 7/ BRACKET RIVET PLATED STEEL 3776 X 7737 Qualified Substrates: 3000 psi Concrete, 1/8” Steet—

1.

Enclosure size based on throat opening (THROAT)
through top of curb. Throat opening width and length

do not have to be the same.

Outside curb dimension
Inside structural angle dimension =

= THROAT + 3.57 4,

THROAT + 3.57

Overall enclosure outside dimension = THROAT + 22.7" 5.

- Enclosure sizing is based on height from louver base to

hood surface without ridge cap. Ridge cap height is 2”. 6.

Minimum louver enclosure height =
Maximum louver enclosure height =
Structural angle height inside =

16" (wo ridge cap)
50" (wo ridge cap)
48" maximum

3. Maximum curb height =
(0.105) x 2 x 2 curb support angle.

A louver center blade support is provided behind each louver
side having a throat opening dimension > 32.5".

Two—piece hood is provided for any enclosure having both
width and length throat dimension > 32.5".

Roof structure must be designed to withstand the weight and 9.
loading transferred from the severe duty louvered enclosure.

All anchoring fasteners must be as specified and must be
installed as shown.

24", Interior 12 ga.

7. The SDLE has been successfully tested in accordance with the
Florida Building Code protocols TAS 201 (missle impact),
TAS 202 (structural integrity) and TAS 203 (cyclic fatigue).
8. Louvered enclosure is to be installed in a location where the
room below the enclosure is designed to drain water penetrating
into the room, and the room will house water resistant/water
proof equipment, components and/or supplies.
Design, testing and installation conforms to Florida Building
Code.

. DAVID RICE




7| b=310s JUNSOTON3 . ., 2 5
AL 'ON_ONIAWNG QY2 d343AN0T / K s
9 10 Z ALNA 3J¥IAIS 2 a
370S 13A0W Z
'ON_133HS 37LIL o
¢002/80/.0 01¥0-9/¥¥S NISNOJSIM T i
\E& EWSE 37v3s ‘@73140HIS oTy XOgd'0d %
€002/82/10] WYGAIW
31vd AL NAYT %@M&%@@@@ G
- — dvO 84N9 3AISNI XYW 000°Z9 NS
o SN |
- — (30IS LYOHS) 3Wvy4 F19NV 55 m
'XYIN 000709 m.mmmw_ i
B _ NOISNIWIG 89ND 3AISLNO 28822 Nt
XV 000'09 41N
- NOISNINIQ Y¥3ANOT WNLOV
XYW G/'6S
" LVOYHL "XV - X _
) 059G 1 5
= 5
w ® 31 i _ =
%%m . } Il Rzl M%
0L Z _ _ S
W m O * . WI'e”]! N
> < il =0
_ _ T O
L J m * _
. L i . _ O Z
e — e 7 5
e o —— = = _ O
i ‘. li__ ! 1 1 ) | j I i ]
- L |||||..|IH_I_ L_lﬁ_\v_l_
<
>~ NOILO3S QOOH Qv
. XY 0SZ'96 = mm
L
. QOOH ® "WI@ 3dISLNO D o > O
‘XYW C'6L I = <
el *
O <
O
I
r Tl
L1 =
I ﬁ . |
N ~ [ T 1 1 |
O H C — H M
. S S
I y © o
=l | | o I\ > .
I ™ s Ml wAA
o ru_ mm H i e e R B~ B ™ e =
. ) 2 e e i e N
| | =4 3
i iy ! ©
7 n . i C_—Hil o I 4 1 g
_ T —t — : _uﬁ [ . * . 0 . ® “
| T i {
| T | o s
L_ T L] z z.
20 dvd gund S Gg o
©0 < L ©w — ] [ —— =
SIS Zal (7|5 0SL°Z <8353 ¢
. O
N NOISNIWIA ¥3ANQ] Zx o S
x O TLOXYN 80 lb ns o5 o
ex ~NODCOo W
—=| TIVYIAO XYW 0TS e— DS 2, Z w
i 2 ox°
D = L
@ — i
@) O D)
<C % =
o <
N O
O O
S
<
w0




P @

JAMB

TYP@\

FORMED ALUMINUM

HOOD W/STIFFENER CHANNELS

|

TP O\ 1/80\ 3/4

1781 \

JaMB/ /87172

JAM V

P N 1/8]\ 1/2

JAMy

TYP @\ 1/8\ 1

JAMV

TYP é>\ 1/8\ 3/4

JAMB/

P o\ 1780\ 1/2

JAM V

"#10 x
SS SCREW

,]”

ofl

=)

M

i} AT S!L> 1/8!'/3/4

81 1/4 LIFTING

O (TYP)) W

HOLE EACH END

MAX. SPACING
CON.

Z
2O,

3

LOUVER
CAULK JOINT WITH
TREMCO SPECTREM 1
DURING ASSEMBLY

CENTER SUPPORT DETAIL

(USED ONLY FOR THROAT

OPENING WIDTH > 32 1/27)

STRUCTURAL STEEL SUPPORT DETAIL

TYP.

6/6 3/6
1/8\.3/4—6
/8| 3/4-6

CORB CA

~= INSIDE THROAT
INSIDE CURB CAP -t=

—— ANGLE FRAME (LONG SIDE) —e=

ASTM A572 PAINTED STEEL OR
A240 STAINLESS STEEL

EXTENDS FULL
HEIGHT INSIDE

TYP.

N
A

| A‘//‘.

STRUCTURAL -
SUPPORT

B

3.0

————

8” MAX. CENTERS <~ 6.0

3" MAX. FROM CORNERS
ON LOUVER PERIMETER

A JAMB DETAIL -

PRODUCT RENEWED

as complying with the Florida
Building Code
Acceptance No
Expiratign Date

125 ATTACHES TO
BLADES &
BLADE SUPPORT
BRACKETS

CORNERS COPED

N BUTTED & FILLET WELDED

@ CORNERS, BUTT
WELDED FRONT & BACK

|/ 6" MAX. SPACING,

4-3/4" MAX. FROM END

|-

TYP. @ HEAD

N|Ve 7

TYP @ FRONT & BACK

3/32]/ 1

/87 <& SILL

ATTACH TO REAR OF

~~—____ LOUVER PERIMETER

178 | “k\\

#10 x 3/4" SS SCREW
ON 6.00” MAX. CENTERS

1/81\0

TYP. @ CORNER

ol o >
Lot
ok O W <
NEN v
N
ENEO (0]
FANAN
A — & I~ “——
o] o 52 —
= e g
4 prEu
St B L O
=5 5 = N
A9
20T
S "
O\ xx
=5, ¢
3
292 - A
<t = D
W~ o R O
I'Ui_qxz 0 =
[ L
a9l 4 w
Gol| W x
3 A W O
o >
g
2 W L$_|
2 .
@)
e
LJ
-t
'-_
=

L. DAVID RICE




0.125

T“__“

L

5.34

l—— 573 ——

1.45
HEAD
6063—T5 ALUMINUM

= 573 —

!

T 0.125

P

1.35

<::> BLADE
: 6063—T5 ALUMINUM

6.53

1.21

‘__§

) 0.081 —clla—

0.125

|

0.70 | |
W‘ 6.08 ——=
O

60635—T5 ALUMINUM

e .54

{ 0.081

!<1—1.25
I

5.91

& ‘
l<}i 4.69 —

BLADE BRACKET

JAMB

6063—T5 ALUMINUM
(USED ONLY FOR THROAT.
OPENING >32 1/2")

—aj T&~w1500

BRACKET REINFORCEMENT

©

6063—T5 ALUMINUM

0.065 6063—T5 ALUM.

BLADE SUPPORT BRACKET ASSEMBLY
(USED ONLY FOR THROAT OPENING

©3/8 HOLES
8” MAX. SPACING

I

2x2x1/4 ANCHORING ANGLE
ASTM A36 PAINTED STEEL

7/32 ON
6” MAX. CENTERS /_97/16 ON
10 GA.(.135) —e—ffo— 6" MAX. CENTERS
s o5 2.00
% —= 300 |l %

TOP/BOTTOM/SIDE

STRUCTURAL SUPPORT
ASTM A572 PAINTED STEEL
OR A240 STAINLESS STELbouct Renewep
:mgﬁemﬂmwﬂorm
,':Wc Q542985
Expiration Délg liy

10 GA(J35)——{ﬁf3—'&{

3/8x5/8 OBROUND I ,

ON 67 MAX. SPACING

—«>l 2.501

CENTER STRUCTURAL
SUPPORT ANGLE
ASTM AS572 PAINTED STEEL
OR A240 STAINLESS STEEL

e—1—

o

>32.5")

10 GA.(.135) —cfa—

S

07/32 (2/Blade)

3/8x5/8 OBROUND
1.25 ON 67 MAX. SPACING °

% o] 250 |

BLADE SUPPORT ANGLE
ASTM AS572 PAINTED STEEL
OR A240 STAINLESS STEEL

REVISION DATE

07/08/2003

REV

4

DATE
MEYDAM | 01/28/2003

DRAWN BY
SCALE

4 OF 6

CAD DRAWING NO.

SDLE—1

SHEET NO.

P.0.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GIRIGENIHIECK

I

TITLE

SEVER DUTY
LOUVER ENCLOSURE

MODEL SDLE

L. DAVID RICF




10.50

STRUCTURAL
ANGLE FRAMING

1/4(1/8>|\5 <TYP-
4

CORNER
ANGLE

| 7/16 DIA. ON

1/8[\ 3/4-6/7 5
/8| 3/4-6\_

(TYP.)

12" MAX CENTERS

12 GA. (0.105) STEEL
SIDE PIECE
QTY: 4 PER UNIT

ANCHOR FASTENERS
3/8-16 X 3 HILTI KB—11

2-1/2 IMBED IN 3000 PSI CONCRETE ON 12~

MAX. CENTERS, 3 1/4” MINIMUM EDGE DISTANCE,

OR HILTI #12—14, #3 POINT

KWIK—-FLEX ON 4 1/2" MAX. CENTERS, 3

/\. ON 1

10.50
@ CORNER COVER
0.125 ALUM,

2.000 l[
ZP—>’ =— 2.000
CURB_STIFFENER
FOR CURB HEIGHT > 12"

0.105 THICK A572 OR A276

SCREWS EACH CORNER
/8" MINIMUM THICKNESS STEEL DECK.

TYP.
AN 3/8—16 ZP WELDNUT
ON 12.0" MAX. CENTERS
(TYP. @ EACH MOUNTING

HOLE INSIDE CURB)

|

1/8]\ .75-15/7
1/8|,\ 7515\

PRODUCT RENEWED
as complying with the Florida
Building Code

Acceptance Noé’%ﬂ?i}"’ﬁi &
w ) Date

HOOD SUPPORT

10 GA. (0.135) A653 GALVANIZED
OR A240 STAINLESS STEEL

A ?wf”

@ —=  4.000

e
HOOD SUPPORT CHANNEL K
5.0 )

BOTTOM
CORNER COVER
! 0.080 ALUM.

2.750

bl 550
@@ CURB CAP

12 GA. (0.105) STEEL ANGLE

LZ.OOO 79.50 M

0.063 ALUM.

0.750 L

‘P

—=| AS REQD

BLANK

- 7
2.0

QFF

16.GA. (0.063) STEEL

]

AX.

@&D_G_E_CAE

0.063 ALUM.

Ol o >
|}
o] te) ¥y <
NFEN
B o]
Lol ©
g\&J\
ol o Wwilg —
O 5
s| L 2 |
(]
SR E
rad B E =
1| - (O
=g |5 S W
89
SRk
SE "
g\ o
LGELN >
EV)"’ wn
=os W& O
- 2 | —
I@ﬁ-l—c 0 > O
9 )
@x% wn =
@58 o w U
GE EE
o O |_|>_| B
S &
n 5
EI N
[ O
e
Led
]
—
=

L. DAVID RICE




_______ o o >
r <~ HOOD SUPPORT CHANNEL(d ol 2 b <
N | (37\6) | ADHERED TO HOOD (19)20) SES
P @ , * | \5/6/ | WITH TREMCO SPECTREM 1. LaEo| ©
JAMV /81 ® l | FANZAN
| | = | CSES] W g —
, - , HOOD BOTTOM COVER Sk
VP O\ | | FASTENED TO HOOD SUPPORT [3 g |
Mg 178172 ‘ | i CHANNELS (23 WITH TREMCO  L.X| g o [ -
V | SPECTREM T AND 1/8” ALUM. [z5hy |- % N
o5 T e e (2 RIVETS ON 12" MAX. SPACING. [EZ8 [ 2 O
TP O 178\ 3/4 | :
JA MV PRODUCT RENEWED R
H as complying with the Florida RS
P O\ 178N\ 1/2 O 23 IN. MAX SPACING BuldngCode’ g o S22 T "
JAMB _ ——— ON SIDE PERPENDICULAR ———= i) el @ﬁuﬁé L
TO HINGE CENTERLINE o> I >
e O\ 178\ o ool ool | B AT > 2
W2l & 2 2
——— =
VP O\ 1/8N 3/4 = INSIDE THROAT eeBf L w
JAMB | A ©cs| aw e
N | 3/8—16 X 1MIN. O o
AL =F= | HEX HEAD SCREW =0y
¥ | i 12" MAX CENTERS || =
| _ ] O
| 1
WV |
| =
#10 X 17 SS SCREW (TYP.)

HOOD CONSTRUCTION

o
A ' @79
N
W -———— ANGLE FRAME ——— ‘

.. DAVID RICE




